BM.3... MULTI STATION SUBPLATE

BM.3.*...

raon.

CETOP 3/NG6

50 = Connected in
70 = Connected in
52 = Connected in
72 = Connected in
60 = Connected in

No. of valve seats
2/3/4/5/6/7/

M = Plastic knob
C = Grub screw

00 = No variant
AL = in aluminium

Serial No.

JU U Uy U

Multi station subplate (standard versions are supplied in cast iron material)

parallel with pressure relief valve and rear connectors
parallel with pressure relief valve and side connectors
series with pressure relief valve and rear connectors
series with pressure relief valve and side connectors
parallel without pressure relief valve and side connectors

8

Type of adjustment (omit for 60 version)

Setting range (omit for 60 version)
1 = max. 50 bar (white spring)

2 = max. 150 bar (yellow spring)
3 = max. 320 bar (green spring)

material versions

* The minimum permissible setting pressure depending on the spring:

see cartridge valve type CMP.10...

BM.3.60 CONNECTED IN PARALLEL WITHOUT PRESSURE RELIEF VALVE

Type A B  Weight (Kg)
BM.3.60/2 120 108 3,6
BM.3.60/3 170 158 51
BM.3.60/4 220 208 6,7
BM.3.60/5 270 258 8.2
BM.3.60/6 320 308 9,7
BM.3.60/7 370 358 11,2
BM.3.60/8 420 408 12,6
A _ A
B B
&
Pr—
A A
? B
i ©
A A
B B
7
PF——
70
- ol i)
P 35 v 1 /4”BSP
o & - g, =
f;,,w {g ,;,
e} Py :
N 0, ] |
gg/ ‘t: ? ? :ij‘
Agrs 1 oo T
- % ] ~,u
\ ‘ 6 B 6
\_7-5

Fixing screws M5x70 UNI 5931

Vil = 16




BM.3... MULTI STATION SUBPLATE

BM.3.50 CONNECTED IN PARALLEL WITH PRESSURE RELIEF VALVE

raon.

Fixing screws M5x70 UNI 5931

) IS N W Type A B Weight (Kg)
B——1—1B
T BM.3.50/2 141 126 4.6
Pr—mr | BM.3.50/3 191 176 6,1
A A BM.3.50/4 241 226 7,6
B 7B BM.3.50/5 291 276 9,1
T BM.3.50/6 341 326 10,6
: e 1 BM.3.50/7 391 376 12,1
A—d 4 n 2 IV 105 ||| BM.3.50/8 441 426 13,6
B— 14— R o ™ [ [
7! I i iy 1 ;
P n T \+ p ‘ " " ‘ " 1 =
e S |
P 32.5 3/8”BSP ‘ ‘ ‘ 26.5
7.5 37 7.5
1/4”BSP i 0.5
1 |y 419 |y -, © S PN -
B 4B 45 O] T ele, 0
F == \ /1 F - P\%%/T P\\{%/T::: N \ o
L A - tortd ot 1 VIS <
| Ak i ¥ ¥ R I I I ﬂ/
- = = 7/ W o~ = = = L/{%\\ /{%\ T f 0 w0 P @ "
= NP " FEC T 2 NN A S " ~ e
(\1 ~|- Ln n ~l= %) ~l- | ) -
Sl e » i (. [y A
P ‘ X A ‘ ¥ g «
é € | @ = i T “
B el =R = Y 18] 15| 19 <.
- @ 7.5 | | 7.5 © Q\%
LQ é /,\ - QZLL\
u E LTRTaRaTll
W
[P P
Fixing screws M6x55 UNI 5931
BM.3.70 CONNECTED IN PARALLEL WITH PRESSURE RELIEF VALVE
a | L a Type A B  Weight (Kg)
S ° BM.3.70/2 160 148 4.9
P— | BM.3.70/3 210 198 6,4
BM.3.70/4 260 248 7,9
4 — BM.3.70/5 310 298 9,4
T = =0 40 =B BM.3.70/6 360 348 10,9
P 29 ‘ BM.3.70/7 410 398 12,4
. . = FF ! ‘ BM.3.70/8 460 448 13,9
B 4 4 B © il B
= 1o 0O
= hE ik
il CMP 1075 ;‘;
: i
ARSI I I S E
B | | £ g 7.5
7.5 /‘ A i i ©
70 /,LA;;LJ\\ LQ
il T g

Vil e 17




BM.3... MULTI STATION SUBPLATE

BM.3.52 CONNECTED IN SERIES WITH PRESSURE RELIEF VALVE

raon.

A - A Type A B  Weight (Kg)
B B
1 BM.3.52/2 141 126 46
| | 210.5 BM.3.52/3 191 176 6,3
£ " 6.5 BM.3.52/4 241 226 7,6
1— L BM.3.52/5 291 276 9,2
T.@ﬁ e i BM.3.52/6 341 326 10,7
L2 o oMP1o Ho BM.3.52/7 391 376 12,2
o 0| « BM3528 441 426 13,7
L 1 \Jr iy " I I I
z' 1 \\\ | } Il I } I BN
ik | S
32.5 2/8”BSP ‘ ‘ 7.5 37 7.5
v 1 /4”BSP o 10.5
M ™~
@ [ - LN m [l : " "
"Ld TR SV g TR e, © B 3 O~
mTW o fé‘*}( Tjﬁ—#} %TW “ JE M&SHU
S AR DA A N N 7 e
— ¥ O AT Y O 0O I o \\
=== / 5{}\\ . - = = /{}\\ / 5{}\\ @ X ©
e E b By S | v a [P ©
= NSPY o - AN - NSPYA ~ @\ﬁ ®
[N ~1— Ln)| N ~— 1) ~= | )| -
v | - o | / I t
F I SR I S 9 @Q SO | o
g £ ) — T
\’ \ iSA : 50 37 U’ ﬁ@%Q 18 15 19
n | | ™~ ;
. CoL o , — B 7.5 JF
p som x L a——
o 7%” + ‘:“ = h’ﬂ’ \W"\Tr' \\—‘,ﬁ
D ot
[ Vi)
Fixing screws M6x55 UNI 5931
BM.3.72 CONNECTED IN SERIES WITH PRESSURE RELIEF VALVE
a _ a Type A B  Weight (Kg)
B B
1 BM.3.72/2 160 148 4,9
BM.3.72/3 210 198 6,4
Al In BM.3.72/4 260 248 7.9
T 35 50 40 35 BM.3.72/5 310 298 9,4
PT.,@_ 09 BM.3.72/6 360 348 10,9
s 05, BM.3.72/7 410 398 12,4
P ‘ ‘ ‘ BM.3.72/8 460 448 13,9
= ‘U g§§ g§§ L;‘ﬂ‘
wm CMP 1 052
87 |l s 7 R
o i 28 o
- ik ik
‘ ‘ 70
. 1/4"BSP -
| wM .
] T o] T
Gy 9O N % ‘ T T
R R et - R R
%ﬁi# o P — | e
w| s B i | 5| £ g
a SR N
/rLA;ZLﬂ\ X
I Er £

Fixing screws M5x70 UNI 5931

Vil e 18



